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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I I
3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec | f
2500 ::::::::::::::::::::::::W
I
2000 : 2
.................. i
1500 |
xmo?x !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng’] is missing

500

25

50

200 2 28 XX XX X 2 X X

75 100 125 150

175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

350 -

300 -

250 -

200

tte

setVI_ETcl
setVIl fgRec
setVIl_VN
s|SetVI

150

PAN
/0/

100

50

10

15

20

25

30

35

40




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-4

Bfig) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R
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07:25 246 150.0 3. 24 5| FHEAe07:25 KEFEF (KRAEREEE)
08:30 246 150.0 3.24 5| THHAe08:30 REFEF (KEAERE)
09:20 246 150.0 3.24 5| FHER09:20 KRENFERF (RFfRELEE
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G3-4
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G3-4_0, Day=29 (2025-06-10)
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G3-4

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:30 197 130.0 2. 808 FA| 1BRi%@06:30 B3h (FKA{EREE)
07:30 197 130.0 2.808 |Z=| {Ri%e07:30 B (REEZHE)
09:30 197 130.0 2.808 |Z=| 1BRi&@09:30 Bzl (RAERE)
10:50 197 130.0 2.808 |Z=| {Ri&e10:50 Bz (REAEHSE)
11:50 197 130.0 2.808 |Z=| {Ri&e11:50 Bz (REEZEBE)
13:10 197 130.0 2.808 [/hfu| {Ri&e13:10 Bz (REEZEHE)
14:10 197 130.0 2. 808 FA| {Ri%@14:10 Bz CGRAEEE)
15:05 197 130.0 2.808 |Z=| {Ri&e15:05 B (REEZEHE)
16:40 197 130.0 2.808 |Z=| {Ri&e16:40 Bz (REEZEHE)
2it[1773.0 (9%) 1170.0 32 3KEC: 2500.0, PH: 6.5

BEXRERIPH (10.36) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.36) 5FMPH (6.5 REKK, FHE
1 [EKECE (2800. 0 vs 4307.0) 1B
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.
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640 645 650 685 690 695 755 760 765 820 825 830
m=865,m FV0=0 m=910,m FV0=0 m=960,m FV0=0 m=1010m FVO=0
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G3-4

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

05:55 131 130.0 2. 808 5| 1Ri&e05:55 B (REAERS)
06:40 131 130.0 2.808 E 1BRi&e06:40 Bzl (RAERE)
07:25 131 130.0 2.808 E|  {Rige07:25 Bah (RFE{EREE)
08:30 131 130.0 2. 808 = {RRi8008:30 B (FRFAEEE)
09:20 131 130.0 2. 808 = RRiB009:20 Bz (RAKEE)
10:05 131 130.0 2. 808 5| {Ri%@10:05 B3 (RAERSE)
10:55 131 130.0 2.808 = {Ri%@10:55 B3 (RAERSE)
11:45 131 130.0 2. 808 S {Rige11:45 B3 (REAERSE)
12:50 131 130.0 2.808 E| {Rige12:50 B3h (RE{ERESE)
13:50 131 130.0 2.808 F BRige13:50 Bz CGRAERESE)
14:40 131 130.0 2. 808 S| {Rig014:40 B3 (RAERSE)
15:25 131 130.0 2.808 E BRige15:25 Bz (GRAERESE)
16:10 131 130.0 2.808 F[ BRige16:10 Bz (CGRAERE)
17:00 131 130.0 2. 808 =l {Rig@17:00 B3 (RAERSE)
2it] 1834.0 (14)%) 1820.0 3 HKEC: 2500.0, PH: 6.5

BERERIPH (10.49) 5i8%EPH (6.5) IREWR K, BT
FERERIPH (10.49) 5FPH (6.5 REKK, FHE
1 [E)KECE (2855. 0 vs 4540.0) 1B
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.
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G3-4_0, Day=27 (2025-06-08)
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m=345, FV0=0 m=385, FV0=0 m=435, FV0=0

—o— ME —o— ME 25 - —— ME
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21
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G3-4

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

05:45 131 120.0 2.592 E 1BRi&e05:45 Bzl (GRAERE)
06:35 131 120.0 2.592 =l {Ri%@06:35 B (RFAERSE)
07:25 131 120.0 2.592 = {RRiB007:25 B (RFAKESE)
08:35 131 120.0 2.592 =] {RRiB008:35 Bz (RFAEEE)
09:30 131 120.0 2.592 5| {Ri%@09:30 Bz (FRAERSE)
10:25 131 120.0 2.592 =l {Rig@10:25 B3 (RAERSE)
11:15 131 120.0 2.592 Sl Rige11:15 Bz (REAERSE)
12:25 131 120.0 2.592 E| {Rige12:25 Bzh (RE{ERSE)
13:35 131 120.0 2.592 F BRi%e13:35 Bz (GRAERSE)
14:30 131 120.0 2.592 S| {Rig014:30 B3 (RAERSE)
15:20 131 120.0 2.592 E BRige15:20 Bz (GRAERERE)
16:10 131 120.0 2.592 F[ BRige16:10 Bz (CGRAERE)
Bit] 1572.0 (12)%) 1440.0 3ZHKEC: 2500.0, PH: 6.5

EREBRIHCRIRAREZI (131 vs 197.0))

ZRIASLPRIERES0. 0 ml.

REREMIPH (10.45) 5i&EPH (6.48) RER K, 1HRE
REXRERIPH (10.45) 5FMPH (6.5) REKK, HFRE
HERECE (2832. 0 vs 4203.0) hs
LORGEBIPH (10.5) 5i&EE (6.5) wERKK, BRE.

LERGERPH (10.5) SiRBIE (6.5) RERK, BRE.




G3-4_0, Day=26 (2025-06-07)
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Warning: lcol ["WC1',  "WC2'] missing
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